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siflefwed / SCIENCE
(a0 whmb <y Bifle el / Tamil & English Versicns)

Crr : 2%z wawnf ] [ Cwrgs wHICLETSET : 75
Time Allowed : 212 Hours } [Maximum Marks : 75
Sifleyeny : (1) Soangg efarrssErhd sflwrs idsal udeirdl e dreTgT eTeLIZene

sfluniégids Qararerajn. FslLSela Geanulmuder mps
sansrenfliuretiLb o Langwnrs Ggflatlsseb.

2) B Soeg smuy ewvlamar wCEGL aWHMSHGLD,
35 56T Heush@Gd LwarLhids Geuea(Bb. UL BISET GUMTeUSNE
GQuendléd LweETUHSSa|LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

GOl : @éieilamggmer pwestn) Wileysemens Gameamg).

Note : This question paper contains three sections.

196y~ I/ SECTION - I

(wdluGluerser : 15) / (Marks : 15)

@iy : @) Gudfeie o erer 15 ellamasEné@n eflaLwelsseyb. 15x1=15

i) @eoLlLys ghllgd Qer@éstulBearer wrhn el safld
fseyd sflwres eflaLmws GCaiptls(Hss erpsaln.

Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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http://www.tamilnaduboard.com




http://www . tamilnaduboard.com

2

Qupeanas Caireyd CarlurleL. Qeuafudd L eui

(srreev Lmiellen, abu,Car-e -aflflev, SMarGaraen Cloarm 6, gen LML
QULDITTE ) '

The theory of Natural Selection was proposed by .

(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptise Lamark)

Nles smenwrer wGaoflurs srissme o (Bauns@w GemravGumguin &m

(@CauGo, wCAGW, wradlumb, meusuréen)
The most serious form of malaria is caused by Plasmodium
(ovale, malariae, falciparum, vivax)

S50 LGSl sramiu®b g prarlSldard srud

(i famdd s&r0Q, Sl e srad, esrmiu® sy, soamubn) -
An endocrine gland found in the neck is

(adrenal gland, pituitary gland, thyroid gland pancreas]

WEGW sreurhisefien Lrsllart Gumas wpenpuded EGDI_@LIQJL.DJ w5 flspey
(smeymige, (panerdse, Leam@n 2 (Haurgd, warHss Carsmns)

In sexual reproduction of flowering plants, the first event involved in this is
(fertilization, germination, regeneration, pollination)

LT g &afled GCumi erdlTlné sadlenw zeflé&dlng.

(Qemd @irss Heuly amidsdar, Bris Qeudrenarwansser, @rss sL(
Dgm&ser, pdi @rss Huuansse)

Which blood cells of mammals are concerned with immunity ?

(Young Erythrocytes, Leucocytes, Thrombocytes, Matured Erythrocytes)

FEDIg 6T STDHHCQOTE HeUTFSEETTED 2 L Teug

(@rdigs flob, eumells sjbflab, assamd, wiflgs ouian)
The product obtained in the anaerobic respiration of yeast is

(Lactic acid, Pyruvic acid, Ethanol, Acetic acid)

vig. erlQurmEersE ehssssT_f
(smllyd, @by, waafflun, Haossi)
An example for fossil fuel is .
(copper, iron, magnesium, coal)
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Bflarréy upeyd CrmisE a(HSSIESTL(H FMHS

(Qardl Sy, Heflwmyep Gumi, urTensus @Gmmurr@l as)n_uumu@)
An example of water-borne disease is

(scabies, dracunculiasis, trachoma, typhoid)

Benrs serlunaissd QararL. sarsa BIESMIFDH GWL. STTUGEL
FUMLE S@rUuTanesd C&Tam. SmFaeao S GLD.

(brésenrsd, Brop samrsd)

A solution that contains water as the solvent is called an aqueous solution. If carbon

disulphide is a solvent in a given solution, then the solution is called
(aqueous solution, non-aqueous solution)

upflegemesd HHES BT FrEED ud FHoss Geuam@b, HLWLIW
vwetuBhiSSUURL UbDLME Senienin LlSTeTL_g).

(Sifled, Smyib)

To protect tooth decay, we are advised to brush our teeth regularly. The nature of the

tooth paste commonly used is in nature.
(acidic, basic)

epepraugy eufiemsude gaflbhsdr e darean eupile erhsamen HGRTSRIGET
o Greren ?

(8, 5)

The third period contains elements. Out of these elements, how many elements are
non-metals ?

()

usdleflevi yadefler __ et LmGeummientd GulgeuLD.
(EnBLITEREHT, SHTTLIGH, F&ooLIT)

Buckminister fullerene is the allotropic form of

(Nitrogen, Carbon, Sulphur)

el urnde 50 .4, Hlamwerer welgalsan eran

(50 N, 35 N, 380 N, 490 N)

The weight of a person is 50 kg. The weight of that person on the surface of the earth
will be

(50 N, 35 N, 380 N, 490 N)

@55 Hubsmasaia o drenGung urly whp uriyseer el
sifls Ceuliugeng 2 L saurdlng).
(Geuamanlo, ClarrllaryliLirer, &mmenD, WDEHFET)

surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Yellow) '

[ Smliys / Turn over
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15.  girlurianes Gepurlen &fl Qe LweTUBHE ).

(& Qaverev, @ell everay, @efl <y G <)
The defect of hypermetropia can be corrected by using a
(concave lens, convex lens, convex mirror, concave mirror)

t9ifley- II / SECTION - II
(HOQueTEET : 40) / (Marks : 40)

GOy : gCsenbd Bmug améserss eflaLasseytb. 20x2=40
Note : Answer any twenty questions.

16. HLSGEemIq W LTS S1b Spidlangfb@Eeresn, Cuflesdneeresn Lorr@u@&:.
Sp&ETEID LTS erigeaw rmur@sd Qsrarderearear erards @GHLa@s.

@) wafiss sawafler Himb Bew, smuiy, LFms, LU eran

wrouGdng. @édeams wrogur® GramiLpb,
i) epwe, wrener CurepeudHPld SrERTILEHL LD HenOLIL
wrmuULHeTeng. @eieuens WImUmH&SET eramuu(p.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases. -

The eye colour among the human beings are varied as Blue, black, green, brown etc...,
(i) This is called as ' variation.

The dentition in the rabbit and the elephant are not the same.

(i) This is called as ‘variation.

17. umpbuflub srits Ho wadu QerpEdiysda EGp Qsr@asiul_(Herarer.
Sieupmet e fluereunean Carbos®ss aps!s.
(sievaler, wrmuTGser, Anblaronged, s36, iDaEaOMDMTS L |GeT)

(i) smyarlsear QuiniGwed srips urguflug srreiset Eb.
(i) erenmug @G deflan wrhms g,mmmu_]rr@m ,

Here are certain important heredltary jargons. Fill in the blanks by choosing a smtable
one from the list given.

(allele, variation, speciation, gene, allelomorphs)

(i) are the factors which form the physical basis of inheritance.

(i) is the alternate forms of the same gene.

http://www . tamilnaduboard.com
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18. %Qmeﬁﬂgéml@gd:- gﬁ)&ﬁﬁ) waflgen eueny QarhissliulL walls @earmsemer
auflaeiLBHEseyD.

(Bwrewr g wafllgear, GanrGurtandeiay, GanrGur eryssv, GanrGum
QeSwen) '

Sequentially arrange the different species of man from primitive to modern man.

(Neanderthal man, Homo habilis, Homo erectus, Homo sapiens)

19. HIV-g6 sarL b o,le wonid 2 mbluuBhiSHn opuile|sHer wreane.

Name the tests done for the diagnosis and confirmation of HIV.

20, Supdrer ULSMs euenrhg QardEsiulBareraupdlad Erea(H UTERISMaTS
Gh&Esa]b. ' o

(Qéd 21 aib, Sy &evmes, GlLaimgyren, Senerds pgeil LGHse).

Copy the diagram and label any two parts; m the group given.

(cyton, axon, dendron, terminal branches)

[ Sipliys / Turn 6ver

http://www.tamilnaduboard.com




http://www . tamilnaduboard.com

6180 6

21. | (&) uLib A wiHmid B e <SienLwimemd smess.

(=) A-wlerm etz UGS B 96 LTINEDS.

(a) Identify Fig. A and B.

(b) Which part of A is modified into B ?

22, ur@ngsafle sremUUBL Lo Biewiy wrg ? wreanudsr sHEh era6
wroyur(y ?

What type of dentition is seen in mammals ? What are elephant tusks ?

http://www . tamilnaduboard.com
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2 Ledlem “wrevL i Qsllevl  eranmy AnBren SiemwpssliuBdpg - srremTD

ST DIbG 6T(LpS)S.

(&4) 2 Lalld Qupu@b smarsgy Caudl Qurmarsesd AnbrasHa
Quplu@m Searmer.

() Smibrstd Qrsssder Coudulemwy swilmaamuts Cugandng.

(@) Sofran, 2Ll Qupynd oy Gadl Qurmersameruyd
GeueflCuiHmSlmea

() Apfran, o1 dear w@mangg Caudll GQummeTsamenLib Coflsg emeusgs
Qaretdlmg).

The Master Chemists of our body are the kidneys. Justify.

(a) Kidneys filter all chemicals in the body.

(b) Kidneys maintain the chemical composition of blood.

() Kidneys eliminate all chemicals absorbed by the bedy.

(d) Kidneys store the chemicals accumulated in the body.

@rassdear Qerrevwnr ugHuled sreriu@d Gerrevwr YErTiwaser
ppenilenass smis. seupidlen Laflsaanyd @HUGEs.

Name the three important blood proteins seen in plasma. Add a note on their functions.

FIEEMTE SEOTID BOSADTANE WIHDHWeHLE DG
(=1) Cupsar. Qewelle asgamaw Hapss paLQupdng
() epp meawrgnuildl FHUGSDE ?

Sugar is converted into alcohol. In the above reaction what kind of process takes
place ? Which micro-organism is involved ?

wallgafler seurss srHoreg euilimre &@er Ceading).
Benrsafics Brmeng eu@u_ura;“&l,_gyé;@@h' Qeenmy Bfe sorhgdrer
<y, &edlgen &@eT ureydlmg.

In human beings, air enters into the body through _ and moves into

In fishes, water enters into the body through _
diffuses into

and the dissolved oxygen

Qariird Aanmds sreurssdla Qggrr@:.b@‘urrgﬂ Fghumb wrhndsear
eflendEs.

Describe the change that occurs in a touch-me-not plant when it is touched.

[ Sigpliyes / Turn over
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Hemau@mb usSHeawl UgsEEH SGHS oL mwus s flbs) (Sasrrlq.i_l__
@ migener HlyliLs.

(&rs aﬂmm@ﬁ]uu@ s 2 COrsmsd, sriua-mL -yemam®, sH5s

F\FHETHET)

urgren, yGreflwb, Garilwuw, =y reafls sOhS somanidmbs)
GauafiCuppiin@®w sfieyt dummlser weafllgamise | l_H el
@whlaeamwuwd urdsdlamng. flodstlulleo. o drer Slble wenlp

2 (Heurs STrenrrelGHT{H WL (HO®TDE® LK DTS 6urLy

GQeuellGumm L@ asrrsuﬁemsu mropurigh@n yell G]@Juu LO M & &1 & (&
' asrrgrequrmm‘ﬂm@
| Fﬂl in the blanks with suitable answers from those given in the bragkets

...(harmful, heavy metals, carbon dioxide, sulphur particles)

Generation of waste products which contain Mercury, Uranium, Thorium, Arsenic,
and other __are . to human health and environment.

present in the coal will cause acid rain and the release of " a green - house
gas, causes CllII'lal'E‘ change and global warmmg ' '

QurmbsTeng E;és@a; :

(=) 2198 - Gydsantd, usms e, 2 ulfl-msair, GuCCrreliub
(<=,) sravpmT, Gﬁ)l_”[_lrrm(_?,l Qafrr,rﬂé]l]rsj(g, 3§Cﬁu§]

Find the odd one out : o

(a) .. bio-alcohol, green diesel, bio-ethers, petroleum.

(b) . ¢holera, typhoid, scabies, dysentery. -

appmad Csllss 2 gab FTsaThS@ETL @mm@mm@ug@lcﬁ]@@g
GCaibllshHEsain.

(geflmd udLseT, sTOlT Wer enL, @ﬂu ;Bn @Gl_mﬁl Wl ;‘%rr &GLml,
L e el edlend@amer, Wisnengn Wlem jenL)

Pick out the appliances that can conserve electric energy.

(Fluorescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke.)

http://www . tamilnaduboard.com
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wrflyerer ool Gup @ugip, SHmbudl @Ium @-Lusurrg; GLI 6T Ml & & 61T

: (_l,omg])_wrra;lh G]un@g@&.

GUGTTEIGET A B C
Hmwul Qumib euerdigdr | &fl srhm) - QuLCpradlwid
Smbul Qup Guien | |
Ao o »& ® emanl_rrer | Qupams eumy | @l geafl b
UGB &G _

Match the suitable renewable and non-renewable sources.

Sources A B . C
Renewable - Coal Wind ' Petroleum
Non-Renewable Hydrogen | Natural gas Solar energy

25°C GQautiuBlenauiler Qgeiliqu sarsai@ED, Asedll s seregéELd e drer
Capuir@smans Sips QardssIu{erar GHLLUSET apawd eT(pgIs.

@ 164 NaCi 100 4. Bflev (i) 36 & NaCl 100 & Hfie

(@@uu NaCl @érr senglmen 36 &)
D15hngmsh between the saturated and unsaturated solution at a temperature of 25°C

using the data given below. (Note : Sclubility of NaCl is 36 g)
(i) 16 g NaClin 100 g water. (i) 36 g NaCl in 100 g water.

Wemoumeuaaupmier Wflens Hlavavenn Uifleans e sgams 5@!_@5 :

(1) urerenL_&&L tg (=) Carmhi
Give the dispersed phase and dispersion medium in each of the following :
(a) Cheese (b) Soda water

Qebreu(hHid oL L cuenamrent Hlyliys :

SeHlLoLd sigg fleop | ppessmn Blon | AgssL () e
@Ganmfla 35.5 | 71 -

qGgren ' 48 3

FaOUN 32 _ 8

Complete the table given below :

ELEMENT | ATOMIC MASS | MOLECULAR MASS ATOMICITY

Chlorine 35.5 71
QOzone - ’ 48 3
Sulphur 32 , 8

[ &igpliys / Turn over
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QY yafow grlly soGul sorsdaie maus@nGurs smily #oGui
eren Bl wrmdlpg) ? o hiser ugissTar elarEssmss Srab.

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify

your answer.

pen@ Asiflps fa Qurmarsafien pH whiy &6 Qsr@éstu’ Herens,.

Qumrmer PH gy
rssd 74
sewwer GCerm 8.2
ellafl & 2.5
e (L Lwerur_ @ Guraflwr 12

lLamarawull uglurile, Osug &Cp o drer
aflenL_wafl&EHeib.

(1) erpOsBal GummeaTser 2iflad Semeo e enL wemey ?
(<) eTBESBH QUTHETEET STId S 2 L amel ?

The pH values of certain familiar substances are given below :

Substance pH value
Blood 7.4
Baking Soda 8.2
Vinegar 25
Household Ammonia 12

Analyse the data in the table and answer the following questions.

(@) Which substances are acidic in nature ?
(b) . Which substances are basic in nature ?

FoemUI(H BTgIemes ALTLGES0 LWeTUL wpen

(meoy Blsly wenp / yedluSily een)
Aprocess employed for the concentration of sulphide ore is
(froth floatation/ gravity separation)

http://www . tamilnaduboard.com

G & 6iTel & (65 & 55



38.

39.

40.

41.

42,

43.

http://www . tamilnaduboard.com

11

e 2 Garshd uTsresgLea CerbsTaibd sMHE Qressaamel erarm GlLWI.
up@Emer e liushHh@l uvweau@d Qresseoemes
(Ag-Sn @rsssweney /Cu-Sn QIrsssaamaedl)

Any metal mixed with mercury is called an amalgam. The amalgam used for dental
filling is (Ag-Sn amalgam/Cu-5n amalgam)

eoub EruayenLw HoGadHmiend 6ulyeukI&EheT QEIDNEGLL. S Sy s
SENEDDSHETE SHTTETHNSSH FnMis.
Diamond is the hardest allotrope of carbon. Give reason for its hardness.

AL&sPs dmuus Hoeer @il wagssfls Smuusdnamen
Gobaib GHuGEeg wry.
As a matter of convention, an anticlockwise moment is taken as ___and a

clockwise moment is taken as

14.4. flevpujerer gam Qummer 20 5 2 wirsdled Qmpag ollws QewiLGEpg.
genranenul aubsmLhag b 165 Ceusgdle Gubapdng. 2 hg LImUT_mLs
sraws. (g=10 b/6fl~2 erens.)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and
rebounds with the same speed. Find the change in momentum. (Take g=10 ms 2)

Qar@ésuul_Hearer ophnd apensaie QuUIEESTS eatmns sam@idlyés.
(iarer Wem g pped, Gflw pod, B e o, 2ulfl Hod)

In the list of sources of energy given below, find out the odd one.

(thermal energy, solar energy, hydroelectric power, biomass)

SLlys GhHs@ar Qer@ssiuul@erer derpsefied aﬂuﬁmmﬁ)m[ﬁg
CoinOs®ss Aemaubbd &L eueneammenu Hlris.
(m&snran, sy, ariue, srfiuw, sriu s, a@ﬂaﬂmm)

Grmdlemeumi &Tu ojlle Gs&aeer

erdlfflemeumis |GlevsemEgnsl wlenasaen

Complete the table choosing the right terms from within the brackets.
(zinc, copper, carbon, lead, lead oxide, aluminium)

+ve electrode {Lead acid accumulator
—ve electrode  |Lechlanche cell

[ Slmiiys / Turn over
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QumphsL 6 GQeulin 2Hmed GHSH eT(PEIS.

Write about ocean thermal energy.

Swerer LL SO THesE ETHs owdl ErHs Lesdlen gﬂméémmés sflwnrgés
sTLHSng).

Which of the compass needle orientations in the following diagram écin’ectly describes
the magnet’s field at the point ? '

A B

S XD :
N S @
&

@(meul et sanraarmad 12 B L (@ liund o 6rer Quin@persaneTs Eﬂgmﬂeu T&d

Ls

sremr (plpweildme.  Deu@lHaLl. GMDUTLigamearyld smears . il
Qaieugnsren Clevemadlaamun &nDis.

A person cannot clearly see objects farther than 12 m from the eye. Name the defect in
vision he is suffering from and the lens that should be used.to correct this defect.

QunmSEs :

(=) L iurfeney | (i) @aﬁ] .QGDGETG‘?L)l

(<=4) g;_ﬁlj’li_llJ‘lTl"l'Gﬁ)aJ . (i) - BT euamer 2ylqsaT
(@) &ifl gpumLas dpar Gaopur® (i) GPCwemen
(/) aplier euret GgreneGrrsdl (iv) @ @aﬁ]m& FHERTEI i
Match. the following : | |

(a) Myopia (i) Ccmveﬁ lens .
(b} Hypermetropia - (i) Hyperbolic mirrors

(c) Presbyopia (iii) Concave lens -

(d) Hubble space telescope (iv) Bi-focal lens

http://www . tamilnaduboard.com
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\9fey- 111 / SECTION - 11
(LG LaTaEeT : 20) / (Marks : 20)

GOLY: () geubeunm LGS BHEID g edem eSsib ;r,rrsh@ eflennéaEnéE

eflen_wief&aayib. 4x5=20

(i) Goeeuwrar @ ksefld LD auamrs.

Note : (i) Answer any four qﬁesﬁons by choosing one question from each part.

(i) Draw Diagrams wherever necessary.

u@gS - 1/ Part - 1

48. & eTemmLICUT @9@6&:(&5 Qubmerermi,

49,

(=) Upps GbossE Wsd W LIEHEEEEN wphs Goemgwy
G{II)I‘I’_ILIE#’;@L[&@ DL L GUEDERTENILI T (DS, ,

(<) @ss@Lydaer epai> arpOshs Cprisemans sO5HL @uaih.

Kala has delivered a'baby_. :

(a) Suggest the immunization schedule for the baby, in the first six months:

(b) What are the diseases that can be cured as per the schedule ?

&Gy Qsr@&siul Barer . Qerpsamar Meugg Usdlow yisd Qs
(e L Cur®, eparCerayibug @grf, euwrGul L, eiréeririi() 2 e,
(PENET, FET(HEUL LD, PLAGHET ©_EPMSEET, GLrm Gl i)

@LW BIDOY W&TLOSMSF D u|erer CPEiT M LIMEI&STUL 2 .aDaer
RLROwrggwres eramy Sienipdslinpdleme. DM D
— 56 Sgle b erer Qasafiiyp @rie & suar oeop
— e D@ PESLLEEADS. Quwaddiugb, Qrés mrerThiseaT
Aupmgiwrer BEH 2 MM&EG ___ eray  WuUwr.  apenered W
TR sogud sl QpmEsLTE Sewbg6ar o1 LUy Queeiu 2 amnés,

erénmy Guwir. . ' S

Use words from the given list to complete the following - paragraph.

(Skull, Vertebral column, Piamater, Arachnoid membrane, Brain, Spinal cord, Meninges,

Duramater) : ' ’ e

The central nervous system is covered by three protective coverings collectively called
- The outermost cover lying below the and _ is

double thick and is called - The middle covering is thin and vascularised

and is called : - The innermost cover is a very thin delicate membrane and is

closely stretched over the outer surface of brain and spinal cord is called

[ $i®Liys / Turn over
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LS - 11/ Part - 11

50. werhss Cersmauiian cuaaser wramel? Ths Guans WETHEE GCHTEMS HATMLD

51.

52.

53.

&T&SIG UG ? eres ?
What are the types of pollination ? Which among them is more advantageous ?
Why ?

sflenw erflCiuganma HUBL S LWHGD Qawdaaner) U igweBHs.
List out the harmful effects of burning coal.

Li@& - 11 / Part - I -
Gemeughid Sigmisseflen Guome eravaf\samamis SaTES[Hs | .
(1) 2 4. enmBLTERen
(<=1,) 23 8. Gemgiud
(@) 40 8. sredwid
() 14 8. gFwid
(2.) 32 &l Faourmr
Find how many moles of atoms are there in :
(a) 2 g of nitrogen _ ‘
(b) 23 g of sodium '
(c}) 40 g of calcium
(d) 1.4 g of lithium
(e) 32 g of sulphur

Qsr@asnulHarer oL euemermuiid Camgl. QLBsMETS SGHS (P&
eurturLre Slriueb :

6T GHIT. i (Gaen D06 DGOSR

1 |CHmgCger _ wsbanr  |Cobh mHamgen
2 | yGuraCuen |CiHs yCpradel — yGrrdenuén
3 [CiHp Quw,CLan  Quteen | Syl enLar

Fill in the blanks in the given table using suitable formulae : “

SLNo. Alkane Alkene Alkyne

1 |C,Hgethane ethene C,H, ethyne
2 propane C,H; propene propyne
3 C,H,, Butane _ Butene Butyne

http://www . tamilnaduboard.com
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U@ - IV/ Part - IV
54. (=) efamQeuel eSyriser e Qeuat ﬁmwuﬁmaﬂéﬂ Betore_ [BTET ShiGauSme
' wefls 2 Ll U@L eevareysaner Y rrieugshersGenr, edan@eauaf
Hleneowiniser LwerLBSsiLBEenmer. @)damnibleer Bluruiu@sss.

(@) F=G mym,/d? erémugy Ay Lefled mic G 65151ul) cor senflg eugeub.
G- miudwe wrdled, m;, m, aearug Hepsar. d QuITBTHEREE
Qe L’ L Qsrenevey erafied Bl L aflen mrci@uwed silglulianans gmpys.

(@) “Space stations are used to study the effects of long-space flight on the human
body’. Justify.

(b} F=G mym,/d? is the mathematical form of Newton’s law of gravitation, -
G-gravitational constant, my, m, are the masses of two bodies separated by a
distance d, then give the statement of Newton’s law of gravitation.
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(a) Redraw the diagram. :

(b) This diagram represents

(c) Label the parts of the diagram.
(d) Mention the principle used in the device denoted by this diagram.
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